% LEsdt e, 2571 d5et ZA=

g —Z -

2

3 By rHEEx, 7

(£r2l : JH%, o)
o ot A F off A oH
MRS E | G MTRE | MAR | 11olM | JIHos | 5 %

11 26 273 868,317 | 849,448 | 18,869
9 9 88 658,075 | 647,343 10,732
2 6 82 157,007 | 153,018 3,989
1 4 66 28,045 27,083 962
2 3 27 24,105 20,926 3,179
1 4 10 1,085 1,078 7
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FAM: AEISX 1

HE: 2% 49 SXIIE PE(ASIST/AEIS YL

. A& EXEE =4

(B ]

SN - FH . G(E0) - NSANY - B2 0 &k o8 pIE=1" FlimE=ET
A =X 1 658,074,806 647,343,117 10,731,689
= 510, 143,931 505,655,762 4,488,169

| 4,465,393 4,465,393 0

= 1,049,250 0 1,049,250

= 27,841,219 23,794,700 4,046,519

= 114,575,013 113,427,262 1,147,751

QX SIS SXIJIE 2HE(ASISXI/AISISXILE 10,812,556 11,490,979 A678,423
= 6,320,379 7,035,934 AT715,555

= 39,400 33,600 5,800

& 4,452,777 4,421,445 31,332

d& EXE8E =4 7,538,698 8,276,121 AT37,423
= 6,270,379 6,985,934 A715,555

= 1,268,319 1,290,187 221,868

AMZIZX ZHIHLY =& 166, 145 163, 145 3,000
204 HESMAY| 52,800 49,800 3,000
03 EHYREHI 52,800 49,800 3,000
Ot2le sl 52,800 49,800 3,000
NSE=SXAY D=4 =& 475,000 460,000 15,000
307 giZtol& 208,000 203,000 5,000
10 AFSIEXIEX 208,000 203,000 5,000
O&HCYWT 2 35,000 30,000 5,000

308 XXIEHHISOIA 262,000 252,000 10,000
01 RXIHMBAEEZ 262,000 252,000 10,000
OFC0 29 10,000 0 10,000

KIS AZ MHIASETIAIS (2 1) 6,740,353 7,502,976 AT62,623
= 6,263,179 6,985,934 AT22,755

= 477,174 517,042 239,868

201 LEH2FH] 9,000 0 9,000
= 9,000 0 9,000

01 AtR22lH] 9,000 0 9,000
OXIEAS MBI AEXIAIYE 2 9,000 0 9,000

= 9,000 0 9,000

202 04l 5,000 0 5,000
= 5,000 0 5,000

01 =2LHAHYI 5,000 0 5,000
OXIEAIS| MBI AEXIALS F=&! 5,000 0 5,000

= 5,000 0 5,000

303 ZaZ 4,000 0 4,000
- 4,000 0 4,000

01 E’c\*% 4,000 0 4,000
KIS AS| HHIA S REAE 2= A2 Al 4,000 0 4,000

= 4,000 0 4,000




SN
D ARX BAO =X PE(ASSX/AESTIYE

el

X XH
=

A2 S X1t

dx =XEY x4

e =

SA - BB O(3) - HEAY - HAS ofl & 24 J| 3 o B2t
308 AtXIEHHISOIH 6,722,353 7,502,976 780,623
= 6,245,179 6,985,934 AT740,755

= 477,174 517,042 239,868

01 RXHHBAELS 6,722,353 7,502,976 A780,623
OXIG A MUIAE XA 6,670,353 7,502,976 A832,623

= 6,193,179 6,985,934 AT792,755

= 477,174 517,042 39,868

OXNISAIS MUIAEXIAIY 29 52,000 0 52,000

= 52,000 0 52,000

XS ASI SRS XA (=1) 7,200 0 7,200
= 7,200 0 7,200

308 XXIEtMISOI™ 7,200 0 7,200
= 7,200 0 7,200

01 XXHHBAEES 7,200 0 7,200
OAME =X XISHs XA 7,200 0 7,200

= 7,200 0 7,200

SXAE &5 2HIH 1,647,320 1,647,320 0
= 39,400 33,600 5,800

= 1,607,920 1,613,720 25,800

ASIEXEEBHE 28 F& 48,000 48,000 0
= 39,400 33,600 5,800

& 8,600 14,400 A5,800

307 2iz2tolA 48,000 48,000 0
= 39,400 33,600 5,800

& 8,600 14,400 25,800

10 AFSIEXIE = 48,000 48,000 0
OMIIEXEEHEH 2Y 48,000 48,000 0

= 39,400 33,600 5,800

& 8,600 14,400 25,800

NEMDHSIHS 1,626,538 1,567,538 59,000
= 50,000 50,000 0

& 1,576,538 1,517,538 59,000

CHAHADHE SEEXI& 1,516,238 1,457,238 59,000
308 AXIEHXISOIH 1,516,238 1,457,238 59,000
01 UXHHBAEES 1,516,238 1,457,238 59,000
OAITHOL Ol& CHEMM EHESIZ 209,000 150,000 59,000
SEEMAFM SHSHAMIISKI/EE) 173,600 113,600 60,000
B2t 8K 173,600 113,600 60,000
S=tA K& 163,600 103,600 60,000
402 2IZHXHE0IH 60,000 0 60,000
01 QIZtXtE2Ex 60,000 0 60,000
O&0IZZ3l SEXisl2 HES 60,000 0 60,000

- 212 -




SN ABI=XID
D DOJISK AIHE SE(ASISX/HAHSKR)
B9l BOjAISTAL 25 U 2 EER-))
S - FE . SRI(ED) - HRAY - BES 0l &k ot pIE=LT B2
OIS AME S (MBIST/HAHSK) 58,763,929 55, 152,748 3,611,181
= 31,328,032 29,769,943 1,558,089
g 4,310,000 4,310,000 0
= 10,690,252 9,287,100 1,403, 152
= 12,435,645 11,785,705 649,940
FOHISXAIL &5 2 2% 26,574,930 23,978,762 2,59%, 168
2 2,276,684 1,622,048 654,636
g 4,310,000 4,310,000 0
= 10,690,252 9,287,100 1,403,152
= 9,297,994 8.750,614 533,380
YT HEH YT 1,569,000 816,000 753,000
= 400,000 400,000 0
= 1,169,000 416,000 753,000
307 eIHo|E 1,553,000 800,000 753,000
= 400,000 400,000 0
= 1,153,000 400,000 753,000
05 SIZteleta 1,553,000 800,000 753,000
ON0HE 2Y HIEH 1,053,000 300,000 753,000
= 200,000 200,000 0
= 853,000 100,000 753,000
0N WEXRME 2 313,800 293,800 20,000
= 33,000 33,000 0
= 280,800 260,800 20,000
308 XHXIHAISOIR 102,800 82,800 20,000
01 RIXISHHIZAEES 102,800 82,800 20,000
OXIZZOjO! X XIRHE & 20,000 0 20,000
I NSMBIHBALE 2 2,570,721 2,509,600 61,121
= 1,062,095 891,700 170,395
< 1,508,626 1,617,900 A109,274
307 BI2HOIM 2,347,681 2,286,560 61,121
= 1,062,095 891,700 170,39
= 1,285,586 1,394,860 £109,274
05 QIzroIeta 1,757,921 1,696,800 61,121
OLAET FOHoI=XB 2 1,455,421 1,395,800 59,621
= 727,195 558,300 168,895
= 728,226 837,500 £109,274
oFAEsL 2Y 87,500 86,000 1,500
= 35,900 34,400 1,500
< 51,600 51,600 0
TN MEAIE SHXH 9,844,819 9,066,800 778,019
= 8,926,120 7,720,000 1,206,120
= 918,699 1,346,800 £428,101
308 XX EHAISOIH 9,844,819 9,066,800 778,019
= 8,926,120 7,720,000 1,206,120
= 918,699 1,346,800 A428,101
01 XXM ZaExS 9,844,819 9,066,800 778,019
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£2A:

bk

N CIEIN I}
ZOHRISX AEE SE(ARSX/FHLHASKE)
g

Sl TOYQISTAL 25 U 2 (19 &)
SH - ZB . CP(B) - MRAY - HES ofl &k 0 pIE=L! Bz

OFOUMEAL 2FXE 9,768,019 8,990,000 778,019

= 8,926, 120 7,720,000 1,206,120

= 841,899 1,270,000 A428,101

HONCIMATHEA L JIsELAE(=1) 615,744 496,682 119,062

=) 473,649 382,063 91,586

& 142,095 114,619 27,476

403 XtXISHMISAH=01H 615,744 496,682 119,062

= 473,649 382,063 91,586

& 142,095 114,619 27,476

01 NAXISHMIG2EE 615,744 496,682 119,062

OZ O EATHE Al S 615,744 496,682 119,062

= 473,649 382,063 91,586

< 142,095 114,619 27,476

HOHQIMEAIL DIsSE2AIE(21) 2,100,456 1,368,490 731,966

= 1,615,735 1,052,685 563,050

= 484,721 315,805 168,916

403 XXM SA=01H 2,100,456 1,368,490 731,966

= 1,615,735 1,052,685 563,050

& 484,721 315,805 168,916

01 RIXISHMAE2EE 2,100,456 1,368,490 731,966

OFOHIMEAIL DS 2,100,456 1,368,490 731,966

£ 1,615,735 1,052,685 563,050

& 484,721 315,805 168,916

Z0Hel NESEE £X 60,000 0 60,000

403 XNXISHMSA=01H 60,000 0 60,000

01 RIXIHMAE2EXE 60,000 0 60,000

oo d===2¢ & 60,000 0 60,000

FOIEX2 JIsE2 40,000 0 40,000

= 26,637 0 26,637

= 13,363 0 13,363

402 BIZERHE0(H 40,000 0 40,000

= 26,637 0 26,637

< 13,363 0 13,363

01 BIZHXtEE X 40,000 0 40,000

OZHI =X JIsEZ 40,000 0 40,000

= 26,637 0 26,637

S 13,363 0 13,363

ZHOHCIKISAISITHEAIE JISEZAIY 33,000 0 33,000

403 KIXISHMISXH201& 33,000 0 33,000

01 XXSHHAA2EE 33,000 0 33,000

OEMOIZE Xt& =Y 33,000 0 33,000

ZOfQIMisord o THEX|R 31,934,891 30,952,984 981,907

= 28,948,769 28,048,274 900,495

= 2,986, 122 2,904,710 81,412
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=M

g

el

EPAIESPNIT,

ZoHelaEory o THEXI R

=

ZOHASX AEE SE(AISI/FHLAHASKI)

SH - BB CR(B) - HBAY - BAS Ol &k o4 p[E-LT B2
ZOHO! ALBIEEXE XIR(2D) 3,507,008 3,507,008 0
= 3,241,773 3,241,773 0
= 285,235 285,235 0
307 QI2H0IH 30,704 30,704 0
= 21,493 21,493 0
= 9,211 9,211 0
05 QI2t9IEta 30,704 0 30,704
OFOHLUAISEE DS 30,704 0 30,704
=2 21,493 0 21,493
[ 9,211 0 9,211
10 AEI=ZXIBE 0 30,704 £30,704
OTOHQUAISIBE DS 0 30,704 230,704
= 0 21,493 221,493
= 0 9,211 ~9,211
ZopeIi=(= 1) 15,262,817 14,319,510 943,307
= 14,067,857 13,189,022 868,835
[ 1,204,960 1,130,488 74,472
308 XHXIEHHSOIH 15,262,817 14,319,510 943,307
= 14,057,857 13,189,022 868,835
= 1,204,960 1,130,488 74,472
01 RXISHZASTS 15,262,817 14,319,510 943,307
oOFMHAAZ XI 15,262,817 14,319,510 943,307
= 14,057,857 13,189,022 868,835
= 1,204,960 1,130,488 74,472
0RO MEREIIT DEXV(2D) 86,100 48,300 37,800
= 82,000 46,000 36,000
= 4,100 2,300 1,800
308 XHXIEHISOI® 86,100 48,300 37,800
=2 82,000 46,000 36,000
= 4,100 2,300 1,800
01 RXISHBASTZ 86,100 48,300 37,800
OFOfe HERZEIT X 86,100 48,300 37,800
=2 82,000 46,000 36,000
= 4,100 2,300 1,800
Z0§OF IIELFXA(2D) 218,200 224,400 26,200
= 152,740 157,080 £4,340
= 65,460 67,320 A 1,860
307 QI2H0IH 218,200 224,400 26,200
=2 152,740 157,080 £4,340
= 65,460 67,320 A1,860
05 QI2t9IEta 218,200 204,400 26,200
OZOHOt =SS X 218,200 224,400 26,200
= 152,740 157,080 £4,340
= 65,460 67,320 A 1,860
Al OISTHEXIZME 29 7,000 0 7,000
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2A: AR S Xt
M HOHRUEX AMEE SH(MIISEX/HLAHSKRA)

Et2l: ZOQl Aoty 2 HEXR (==&
SA-FHH - SJ(FA) - NBEANY - HES Ol &t JlIE Hlus2

308 AHXIEHSOIE 7,000 0 7,000

01 UHXHMBAERS 7,000 0 7,000

OAIZ2 OISTHEXIZHE 2 7,000 0 7,000

ZOHRIANSE & ASIEHET 254,108 221,002 33,106

= 102,579 99,621 2,958

=S 151,529 121,381 30, 148

ZOHQ! BIZHEHM SAEZ 55,600 35,600 20,000

307 21Zt0l& 55,600 35,600 20,000

10 AlRISXIEX 55,600 35,600 20,000

OOAIOHXI H ZOHRICHS] &It 20,000 0 20,000

ZoHel 2so=EsAE 19,000 9,000 10,000

308 AXIEHIS0IH 19,000 9,000 10,000

01 AXSHBAEES 19,000 9,000 10,000

OFOHe! SEHIAUS 10,000 0 10,000

HEZOHR! ASIEO! EUXIKAISE(=1D) 65,708 62,602 3,106

= 62,579 59,621 2,958

S 3,129 2,981 148

308 AHXISHISOIA 65,708 62,602 3,106

= 62,579 59,621 2,958

S 3,129 2,981 148

01 AXSHBLERS 65,708 62,602 3,106

OEEM! At2IEHED XI& 65,708 62,602 3,106

= 62,579 59,621 2,958

= 3,129 2,981 148

s CSME BR(ASSXI/ Ll - HAH) 183,369, 387 177,820,838 5,548,549

= 147,668,248 144,776,418 2,891,830

Il 155,393 155,393 0

= 1,049,250 0 1,049,250

= 17,111,567 14,474,000 2,637,567

== 17,384,929 18,415,027 21,030,098

ColgRel H#EL AS2E 9,482,790 9,481,767 1,023

= 7,675,600 7,672,681 2,919

L= 1,807,190 1,809,086 A1,8%

ColdXtel At (=2 0) 9,156,790 9,155,767 1,023

= 7,675,600 7,672,681 2,919

== 1,481,190 1,483,086 A1,8%

307 gIz2to|d 10,000 0 10,000

= 5,000 0 5,000

= 5,000 0 5,000

10 AlRISXIEX 10,000 0 10,000

od=elaXelZ AU It X& 10,000 0 10,000

= 5,000 0 5,000

S 5,000 0 5,000
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A AtSIEX 1t
FE: AU CSMB BY(ASZR/CQ - HAW)
el LoluXiel HED ASSE (=ER-E
2N -2 - G2(3H) - NIFAEY - HES Oif &4 J1E A Hlns2
308 XHXIEtHISOIH 9,127,590 9,136,567 28,977
== 7,661,000 7,663,081 22,081
& 1,466,590 1,473,486 26,896
01 AMXHMBAEXS 9,127,590 9, 136,567 AN8,977
o= & 20EYI 8,799,540 8,840,917 A41,377
= 7,332,950 7,367,431 234,481
& 1,466,590 1,473,486 26,8%6
O=&)|2 Mol 328,050 295,650 32,400
= 328,050 295,650 32,400
CEMESXI ALSIEO & 141,955,103 139,426,463 2,528,640
= 128,786,809 127,737,559 1,049,250
Il 155,393 155,393 0
= 1,049,250 0 1,049,250
& 11,963,651 11,533,511 430, 140
Z2Y 2% 435 X 2,405,000 2,394,560 10,440
308 AtXIEHHISO0IA 1,285,000 1,274,560 10,440
01 AXSHHBHEES 1,285,000 1,274,560 10,440
OZEY 2ZHI(2,818012) 1,107,480 1,097,040 10,440
F2Y SFI| eyl X|(=21) 2,518,200 0 2,518,200
= 1,049,250 0 1,049,250
= 1,049,250 0 1,049,250
& 419,700 0 419,700
308 XHXIEHMISOIA 2,518,200 0 2,518,200
= 1,049,250 0 1,049,250
= 1,049,250 0 1,049,250
= 419,700 0 419,700
01 MXEHHZBAEES 2,518,200 0 2,518,200
OZ=2Y S&EJ| Ll X3 2,518,200 0 2,518,200
2 1,049,250 0 1,049,250
= 1,049,250 0 1,049,250
= 419,700 0 419,700
wololZ - SXAL &5 30,286,073 28,912,608 1,873,465
= 9,560,418 9,366,178 194,240
= 17,111,567 14,474,000 2,637,567
= 3,614,088 5,072,430 A1,458,342
LY R WETEED 8,618,229 18,002,500 505,729
= 17,111,567 14,474,000 2,637,567
= 1,506,662 3,618,500 22,111,838
308 AXIEHHISO0IA 18,618,229 18,092,500 525,729
= 17,111,567 14,474,000 2,637,567
= 1,506,662 3,618,500 22,111,838
01 RXSHBLEXRS 18,618,229 18,092,500 525,729
OLQIMEAL 2Y 18,613,229 18,092,500 520,729
= 17,111,567 14,474,000 2,637,567
(o= 1,501,662 3,618,500 22,116,838
OMIL-Q=XAL Xel Hest DS 5,000 0 5,000
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SA:
X XH -
= —

e

0%
>
ol
Jt
>
-~
H
o
0%
B>
M

SN HH SR (3) - NSAY - BaS ol &t bIE-L HimE==t
LoIEXAE JIsE2(=20) 5,255,610 4,736,706 518,904
= 4,027,255 3,947,255 80,000

== 1,228,355 789,451 438,904

403 KXISHHIS K201 A 5,255,610 4,736,706 518,904
= 4,027,255 3,947,255 80,000

& 1,228,355 789,451 438,904

01 AXIEHA=E xR 5,255,610 4,736,706 518,904
OLIEXAE JIsEZ 5,192,706 4,736,706 456,000

= 4,027,255 3,947,255 80,000

& 1,165,451 789,451 376,000

OLQIRAAIL YAl XA 62,904 0 62,904
LOIEXIAIE SZoHH 400,000 200,000 200,000
403 XXISHMSXH20IH 400,000 200,000 200,000
01 AXISMAZEE 400,000 200,000 200,000
oLo=EX2 HEXA 400,000 200,000 200,000
LolEE MHIA(ZD) 6,007,434 5,883,402 124,032
= 5,533, 163 5,418,923 114,240

= 474,271 464,479 9,792

308 AtXICHHISOI&E 6,007,434 5,883,402 124,032
= 5,533, 163 5,418,923 114,240

= 474,271 464,479 9,792

01 AXHHBLEES 6,007,434 5,883,402 124,032
OLolEsAMHIA I3 5,528,634 5,413,722 114,912

= 5,092, 163 4,986,323 105,840

& 436,471 427,39 9,072

O=HLo SSHdEsE0l 298 X 478,800 469,680 9,120

= 441,000 432,600 8,400

& 37,800 37,080 720

LolES MHIA 4,800 0 4,800
308 AtXIEtHISOIE 4,800 0 4,800
01 RXSHHBAEES 4,800 0 4,800
OSHLQ ZSMEDIE 29 X 4,800 0 4,800
LQIEX L AL &5 1,645,421 0 1,645,421
= 1,645,421 0 1,645,421

ZAAIE EE(SD) 1,645,421 0 1,645,421
= 1,645,421 0 1,645,421

403 RXISMSAH=01A 1,645,421 0 1,645,421
= 1,645,421 0 1,645,421

01 RXIEH =2 X 1,645,421 0 1,645,421
OTAANE &5 & HES 1,645,421 0 1,645,421

= 1,645,421 0 1,645,421

SO ZMESE(ASISX /I ZMEEE) 384,797,241 382,741,891 2,055,350
= 324,827,272 324,073,467 753,805
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A A2l S X1t
FH: [ ZHEEF(MESX/ I ZLELE)

oel 2R NY - XE A (Sl HR)
S BB SRA(SH) - A - BES 0 aro BlE-L" {mE==r

S 59,969,969 58,668,424 1,301,545

goi= g - g X 188,537,702 188,389,891 147,811

= 168,849,686 168,764,312 85,374

S 19,688,016 19,625,579 62,437

NAEE EEXE 444,200 374,200 70,000

308 AHXIEHISOIN 307,000 297,000 10,000

01 AXHBLEES 307,000 297,000 10,000
OXHHAIES AlY XIJ(EHEAY, =014

H,oZoIaag 5) 50,000 40,000 10,000

403 XXM SA=0lH 137,200 77,200 60,000

01 RXIEHAZ2E R 137,200 77,200 60,000

OXH et dHEd 60,000 0 60,000

Se0INE 29 X](21) 1,702,861 1,743,903 A41,042

= 1,192,003 1,220,732 A28,729

S 510,858 523,171 212,313

308 AHXIEHISOIN 1,702,861 1,743,903 NA41,042

= 1,192,003 1,220,732 A28,729

= 510,858 523,171 212,313

01 HXISHHBAEEXS 1,702,861 1,743,903 A41,042

OREAE 2Y 1,702,861 1,743,903 AN41,042

= 1,192,003 1,220,732 A28,729

== 510,858 523,171 212,313

Y TENJAMEH(S2) 426,523 431,523 A5,000

= 298,566 302,066 23,500

= 127,957 129,457 21,500

307 212+old 426,523 431,523 25,000

= 298,566 302,066 23,500

L= 127,957 129,457 A 1,500

10 ALIEXIExE 426,523 431,523 25,000

OZAXEHH 24 426,523 431,523 25,000

= 298,566 302,066 A3,500

= 127,957 129,457 21,500

SOIANL JIsELXA(21) 108,750 90,000 18,750

= 72,500 60,000 12,500

= 36,250 30,000 6,250

403 XXIHMSAH=01A 108,750 90,000 18,750

= 72,500 60,000 12,500

= 36,250 30,000 6,250

01 AXISHAZ2ER 108,750 90,000 18,750

OFYAE JIs2Z 108,750 90,000 18,750

= 72,500 60,000 12,500

D 36,250 30,000 6,250

X (=2) 21,296,510 21,191,407 105,103

= 20,122,816 20,017,713 105,103
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EAM: AtsIS X1t

& [P ZUEEZ(MISX/IZUEEH)

Ol g2 g - g X (el =)
S - ZE . SRI(ED) - NRAR - BES ofl &k 0t pIE=L" =2

& 1,173,694 1,173,6%4 0

308 AtXIEHHISO0IH 21,296,510 21,191,407 105, 103

= 20,122,816 20,017,713 105,103

& 1,173,694 1,173,644 0

01 AXHMBAEEES 21,296,510 21,191,407 105, 103

OXIGXtEHEH 29 2,075,316 1,970,213 105, 103

= 2,075,316 1,970,213 105, 103

HASE KNS HHEX A8 1,287,539 452,000 835,539

= 858,431 190,000 668,431

= 429,108 262,000 167,108

S| E KEAEAIE(20) 835,539 0 835,539

= 668,431 0 668,431

& 167,108 0 167,108

307 2iztolA 835,539 0 835,539

= 668,431 0 668,431

& 167,108 0 167,108

10 AtEIEXE= 835,539 0 835,539

osYe|2EZNE XA 835,539 0 835,539

= 668,431 0 668,431

& 167,108 0 167,108

22202 Y (22 HI IZ2ISEHIA) 194,972,000 193,900,000 1,072,000

= 155,119, 155 155,119, 155 0

& 39,852,845 38,780,845 1,072,000

o230 AZAHIA X(=1) 193,458,250 193,359, 281 98,969

= 155,119, 155 155,119, 155 0

= 38,339,095 38,240,126 98,969

403 XHXISHISAH=01H 188,693,205 188,594,236 98,969

= 150,875,391 150,875,391 0

& 37,817,814 37,718,845 98,969

02 SJI2SOICHEttHE AL I 188,693,205 188,594,236 98,969

Ox=H| HEZ 187,127,471 187,028,502 98,969

= 149,622,802 149,622,802 0

& 37,504,669 37,405,700 98,969

(0:{}s1ks]] 1,302,750 329,719 973,031

801 0ilglbl 1,302,750 329,719 973,031

01 oildlBl 1,302,750 329,719 973,031

©olgldl 1,302,750 329,719 973,031

HRES (A S X0 (MSISXI/FHAHSKIH) 19,715,737 19,580,705 135,032

LHEHeH RIS 19,679,674 19,580,705 98,969

o Z2=2HIIZ2 K& 19,479,674 19,380,705 98,969

701 JIEt3HIEEZ 19,479,674 19,380,705 98,969

01 JIEtSHIEES 19,479,674 19,380,705 98,969

OAZSHIISEESH ME= 19,479,674 19,380,705 98,969
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A AL S X D
2 HRES(AEISXID) (AMSISX/HSAHSKIH)
©@e: BAXE (E49]: &)
2H -2 . G2(3]H) - HIFAE - BES Off &koH JIZH Hns2
SBEXE 36,063 0 36,063
MIEXEE FNEBXZEHES 36,063 0 36,063
802 gret=JIE 36,063 0 36,063
01 =8xZetaza 36,063 0 36,063
©'10 ol xtel 802 0 802
©'10 OIXHE! 22+ 1 0 1
©'10 ZOHISKIAIL JIsES 808 0 808
©'09 FoHelas=Ex 13,843 0 13,843
©'09 ZoHe! LXtel 158 0 158
©'09 EHQIAL JsE22 16,407 0 16,407
©'09 RHQIANL 2 2,139 0 2,139
©'09 XARIHE HRAIEC! 1,905 0 1,905
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